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QUESTION PAP PECIFIC INSTRUCTIONS
(Please read each of the fol instructions carefully before attempting questions)

There are TWENTY questi ed both in HINDI and in ENGLISH.

ALL questions are co .
The number o Qﬁied by a question/part is indicated against it.

Answers mus itten in the medium authorized in the Admission Certificate which must
be stated clearly Jon the cover of this Question-cum-Answer (QCA) Booklet in the space
provide ks will be given for answers written in a medium other than the authorized

one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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3 Fves FU F AR S wRa § 9wg @ A W (e wHe Fo) F wilferd fru mu ¥ wwa
e 2017 @ Frnf=a sfio who do % Uew Fifgandl w o fufi FHifvm)

(I 150 w=a1 | Hifsm)

Enumerate the indirect taxes which have been subsumed in the Goods and Services
Tax (GST) in India. Also, comment on the revenue implications of the GST
introduced in India since July 2017. (Answer in 150 words)

. Y T HA § HERd € % wee e IR (Sfte o dio) fit wmh wafg qun i geedif F
FRU A feran =gt fufa § 37 R ql % wmedA d s difv)

(I 150 wr=al )

Do you agree with the view that steady GDP growth and low inflation the

Indian economy in good shape? Give reasons in support of your ar, S.
(Answer words)

THFd FY Tl (3180 Tho THo) TFW W q FM I # @ 87

production? Answer in 150 words)

150 wisai B difsm)
How far is Integrated Farming System (IFS) helptj%staining agricultural

. Sa-yidafed &= | FN Ied § gfg Fm 3 e - TRASAT % U9TE F WfEIR e
iR (I 150 w1t # difo)

Elaborate the impact of National Watershefl Project in increasing agricultural

production from water-stressed ar? (Answer in 150 words)
. a gt ol Fi-fagm & & & fadgta 3 gfo Wo o @ IYE & deHl |

Wﬁ%ﬂmmqﬁmm (IW 150 w==i 7 difsr)
How was India benefitt the contributions of Sir M. Visvesvaraya and
Dr. M. S. Swamina e fields of water engineering and agricultural science
respectively? (Answer in 150 words)

smaﬁ %#mmﬁwm%mmmﬁamaﬁ%mm
(IW 150 w5t 7 €ifsm)

plan to have its own space station and how will it benefit our space
pro (Answer in 150 words)

. T 919 G, 9 9% 99 8 91 339 R, FAR T 6 4 el o2 @l § d 0 ¥ IRd @@
WA R AR G % 99E I, TfE e w1 gaen W g, favewn S
(IW 150 =i § i)

Coastal sand mining, whether legal or illegal, poses one of the biggest threats to our
environment. Analyze the impact of sand mining along the Indian coasts, citing
specific examples. (Answer in 150 words)
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8.

10.

11.

12.

13.

14,

g1 w9E] 3R A % e S @ ) afonfia 0 F fn S o sreaevas 9w ) sanedt
% fd Seran 1 R yER 3R - alewl % a1y Sfe-Rew B o1 s 27 seeett ¥ ged &
Yaq % fafie vl w == fifsg) (IW 150 wr=31 # <ifer)

Vulnerability is an essential element for defining disaster impacts and its threat to
people. How and in what ways can vulnerability to disasters be characterized?
Discuss different types of vulnerability with reference to disasters.

(Answer in 150 words)

S SR FYHR A S-SR R I T @ ATk Sl I werEdl vgen § sfy-3al
FEFAA (o Sfo Txgo) 1 i waM F1 Fg o T B | U (FTad) W A 8§ Aaward
Sl I gl TgE § qfi-3oR FEwdte g f s @ e w1 e fiy-3aft

FREAA * qqE F e w0 % uEl 6 ==l fifvg (3W 1 difsm)
The banning of ‘Jamaat-e-Islami’ in Jammu and Kashmir broughft mto Yoctis the
role of over-ground workers (OGWs) in assisting terrorist organizatiorts. Examine

the role played by OGWs in assisting terrorist organizatioms i
areas. Discuss measures to neutralize influence of OGW
wer in 150 words)

qrgeEm qiEsE #7187 we i fF wwra d e FH ¥ 9% 58 yer Iwh
B Thal 1 (IW 150 vi=ai § ifsm)
What is CyberDome Project? Explain how i useful in controlling internet
crimes in India. (Answer in 150 words)
Tz T fean s & T wmaEh wafe Y FHEfRE SR urofEa F g
wm fFm s ®) 39 s W fRwof (3| 250 w=a1 7 €ifsm)
It is argued that the strategy ofy sive growth is intended to meet the objectives of
inclusiveness and sustainabili ether. Comment on this statement.

(Answer in 250 words)
I -ZARH Y F g, % Hed H, % 49 YEYA NG WER F FHE Th T )
TS WY FHI) gr (IW 250 vr=a1 # <iforg)

The public exge e management is a challenge to the Government of India in
the conge get making during the post-liberalization period. Clarify it.
(Answer in 250 words)

%ﬁ#ﬁuﬁmﬁ@wmaﬁa—ﬂH%mmmmﬂ

(I 250 w=at | difvm)
What are the reformative steps taken by the Government to make food grain
distribution system more effective? (Answer in 250 words)

WTE TR & ht ANl % FEIYE B WA TR g1 S19ATs 78 A ) afeer v i)

(3| 250 =3} # i)
Elaborate the policy taken by the Government of India to meet the challenges of the
food processing sector. (Answer in 250 words)
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15.

16.

17.

18.

19.

20.

S el % 1 SR 3 TR T ) ¥ Y AT HER o T w3

(IW 250 =3t # difsm)
How is the Government of India protecting traditional knowledge of medicine from
patenting by pharmaceutical companies? (Answer in 250 words)

frarl ¥ Sfea T B 39 F9 F fou sm fefeh R yer gema e 27
(3W 250 w=a1 # i)

How can biotechnology help to improve the living standards of farmers?

ATy R (FRYae SIAgE) i deE1 91 G9Y 30 HHhea HI qag R

(Answer in 250 words)

e & G TR o 6 T ) Hee A uRom AR we R R 1%
2l

(FW ifs)

t to an
lanning for
in 250 words)

Define the concept of carrying capacity of an ecosystem
environment. Explain how understanding this concept is vit
sustainable development of a region.

foret oft atET WEYA WEE B 39el A9l Ee e Bl B 1, v fifsy % g
IgaE Al R TR e el § HeE S| (IW 250 w41 7 4ifm)
Disaster preparedness is the first step in any disastgf management process. Explain

how hazard zonation mapping will help di r mitigation in the case of landslides.
(Answer in 250 words)

Rd W&ER 3 T @ ° fafufees ) sfufmm (Fo o Hlo Wwo), 1967 R

o 3Ro To ARIMAN F TG TR MGHAG-UH HEE HI Tt T 8| AHATEHR Al
T fafufeeg Brampem (famo) o F F IR 3 HRol | S= w99 GaqE
ey Rew & wed A, ditEdAl EAEd (3W 250 w81 ¥ i)

Indian Government has rec
the Unlawful Activitie
changes in the co
scope and reason

trengthened the anti-terrorism laws by amending
tion) Act (UAPA), 1967 and the NIA Act. Analyze the
of pfevailing security environment while discussing the
posing the UAPA by human rights organizations.

(Answer in 250 words)
-t wRe s #I dim ¥ ARuR sErd, @i R giafie % e e g e |
kil ~R Him % SR adHE § sy g areht faftm g 0 ahem fif)
iy g F gy HE % FeHl | == Hieg) (IW 250 w=a1 # 4ifsm)

Cross-bérder movement of insurgents is only one of the several security challenges
facing the policing of the border in North-East India. Examine the various
challenges currently emanating across the India-Myanmar border. Also, discuss the
steps to counter the challenges. (Answer in 250 words)
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